WINTER BREAK
MATHS ASSIGNMENT
FOR
- CLASS IX



Chapters Included:

1. Expansions

2. Factorisation
3. Mensuration
4. Trigonometry
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CHAPTER TEST

Simplify (x —2) (x + 2) (x2 + 4) (x4 + 16).
Evaluate 1002 x 998 by using a special product.
If a + 2b + 3c = 0, prove that 43 + 843 + 273 = 18abc.

. Find the expansions of the following :
() @x +3y +5) 2x + 3y - 5) (i) (6 —4 a7 b)
(i) (7 = 3 xy)® (iv) (x +y + 2)3.

If 2x = 3y — 5, then find the value of 8x3 — 27y3 — 90xy + 125.

If a% - —12— = 5, evaluate a4 + L4

@ a

Ifa + % =panda - % = g, find the relation between p and 4.

If ”2a+1 = 4, find the value of 24% + %

If x = Zi—x' find the values of

() x + % (if) 2% + _x% (iif) x5 + :_6
If x - % _ 3 + 242, find the value of %(xs-x%)

i 3 _ _1_
If x + -31; = 3%, find the value of x 5

1
If x = 2 — 43, then find the value of x3 - =

If the sum of two numbe

of their squares. | )
Ifa—b=7anda®-b3=133 find (i) ab (ii) a® + b2

Find the coefficient of x2 in the expansion of
(k2 + x + 1)2 + @2 -x + 1)

rs is 11 and sum of their cubes is 737, find the sum
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CHAPTER TEQT

Factorize the following (1 ¢, 12) :

) 15 (2x — 3)3 — 10(2y — P
1. (‘_) \ ) (2x - 3) (i) a(b—c) (b +c) - d(c - b).
9. (i) 2a%x — bx + 2a% - } .
) (2 -y z+ (y2 - 22 i) " = (0 + 2b) p + 2ab.
3. @ N /d o (-(/i —2)x (1) 5a* - 503 + 302 — 30.
4. (@) b(c- ald - c) + 3c - 34 () 3 -x2—xy+x+y-1.
5. () x(x +2) - yly + z) (i) a'2x% — p4x12,
6. () 9x* + 12x + 4 — 162 (if) x* + 3x2 + 4.
‘ e S
: (u) r4 5 3r2 s (x2 + 2)2 3 tz 8 e d ;
7. (1) 2112 595‘/ + 40J (n) 4x3y — 44x%y + 112171/
8. () x> —xy—72 (i) 9x3y + 41x%y + 20xy>.
9. (i) (3a — 2b)?> + 3(3a - 2b) - 10 (if) (x2 - 3x) (x% = 3x + 7) + 10.
§ (n) Given expression=y(y + 7) + 10 where yi= o 3% <3
—y +7y+10—(j+5)(y+2) {
10. (z) (12 - r) (4x2 — 4x - 5) Sy (if) x* + 9x%y* + 81y*.

(u) x4 & 91 y2 + 81/4 = (x* + 18x2y? + 81y*) — 9x%y?
(x2 + 9y2)2 — (Bxy)~

e v e s A

' 3 i) x6 + 6313 — 64.
1. (1) 2—87-x3—%y° (if) x® + 63x

1 i) (v + 1) = (x - 1)°.
12. () x3 + x% - —12—+}—3- (if) (x + 1)° = ( )

X
(zz)Letx+1—a,l‘1—b

i 3) (a® + b3)
on = a% - b® (a® - b°)
leen expressi =) (a?- +ab+b?) @+Db) J(a,z_“_, % +,.b_2 )

Bt i e i o5 ik,

g

13. ShOW that 973 + 143 is d1v1sxble b
- M. Ifg+p=28andab=15 find the value of ¢

y 111.
o+ a%h? + b

s s =

p2)2 — a2 b2.

o
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CHAPTER TEST

22 D28 5 : ' |
Take 7= S unless slated otherwise. v

- i s bl it

1. (a) Calculate the area of the shaded region. . =

(b) Tf the sides of a square are lengthened by 3 cm, the area becomes 121 cm®.
Find the perimeter of the original square.

2. The adjoining figure shows a kite in the
shape of a square with a diagonal 32 cm and
an isosceles triangle of base 8 cm and side
6 cm each. How much paper is used in

making the kite? Ignore the wastage of the
paper is making the kite.

8cm

3. (q) Find the area enclosed by the figure (i) given below. All measurements
are in centimetres.

(b) Find the area of the quadrilateral ABCD shown in figure (i) given below.
All measurements are in centimetres.

(¢) Calculate the area of the shaded region shown in tigure (iif) given below.
All measurements are in metres.

-5 — -3
al \ —~ 7 e
11 \ 2 y, /
I i \\ 6 // /
I Y / /
Ofa ~ TN N " /
11 I\ \ ‘ /
1 D | /
1 o L L /
11 | \ i /
11 | \ /
| b2d N | J 5
€ e — § — = —> ! P
(i) (if) (iif)
\
\
\Scm
\
4. Asifa cut an acroplane from a coloured chart g sem

paper (as shown in the adjoining figure).
Find the total area of the chart paper used,
correct to 1 decimal place.

Z
_____7_;
%

6-5cmI
|
|
¥ hem
1em /i \1cm
2cm
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